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Section A
Attempt any TWo questions: (2 x 10 = 20)
1. Explain different tlpes of numerical errors with example. Find the root of the equation /(x) = x, i

3x * l in the using Newton Raphson Method using initial value xo : 3 . I4 + 6)

2. What is interpolation? Find the function al value at x 0.5 from the followingdatausing forward
difference formula.
X 0 0.2 0.4 0.6 0.8
f(x) 0 0.24 0.55 0.92 r.63

[2+8]

) Evaluate {f, "*'dx 
using Simpson's rule with n:6. Also evaluate the same integral using Gaussian 3

-point formula and compare the result. [5+5]

(8x5=40)
I5l

Section B
Attempt any EIGHT questions:
4. Solve the system of linear equation using Gauss elirnination method.

3x+6Y+z:16
2x+4Y+ 3z:13
x+3y+32-9

5. Solve the following differential equation * = ,* + | with y(0) : I for x = 0.2 (h : 0.1) using
Euler's Method. 

t5]

6. SolvethePoisson'sequation V,f =Zxry, overthe squaredomain 0< x ( 3 and0 3y S 3 withf:0 on the boundary and h:1. t5]

7 . What is initial value problem? Use RK fourth order method to estimate y(0.a) of the equat iionff =
x2 + y2 rvith y(0):0 (assurne h:0.2). t5l

8. Calculate the integral value offf * O" by using Simpson's 3/B rule with 9 segments. t5l

9. Find the root of e' - 3x : 0, using bisection metliod correct to two rlecimal places. l 5l

10. Apply Gauss-Jordan elimination method to solve the following system of equations:
x'y+2.9
2x-3y+42: I 3
3x+{y+ 5z:40

tsl

11. Fitasecond-degreepolynomialy:a+bx+cx2tothedata(1, 1.1),(1.5, i.3),(2.0,1.6),(2.5,2.0),(3.0,
2.1), (3.5,3.4) and (4,4.1). 

t5l

12. Explain about least square linear regression and describe its application.
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